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QUESTION 1

Which technology allows HPE to maximize available capacity utilization of SSD drives?
A. HPE 3PAR Global Sparing

B. HPE 3PAR Adaptive Sparing

C. HPE 3PAR Adaptive Optimization

D. HPE 3PAR Distributed Sparing

Correct Answer: C

QUESTION 2

A customer needs a disaster-tolerant replication solution for its Oracle database. The database consists of only one 500
GB volume. You recommend a Remote Copy solution based on HPE 3PAR StoreServ 8200 systems.

Which statement is correct when using multiple RCIP or Fibre Channel ports for this design?
A. Synchronous replication mode must be used

B. Asynchronous streaming replication mode must be used

C. All available links of the same type are used for replication

D. All available links are used for replication

Correct Answer: A

QUESTION 3

A customer has almost reached the maximum number of domain IDs in a B-series, Fibre Channel SAN fabric. The
company has also recently acquired another company and needs to integrate their C-series Fibre Channel SAN to be
able to share the SAN infrastructure.

Which feature should you enable on the C-series, Fibre Channel edge switches to meet these requirements?

A. NPV mode

B. FSPF routing

C. hard zoning

D. soft zoning

Correct Answer: C
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QUESTION 4

You are demonstrating management of HPE 3PAR StoreServ arrays using HPE OneView. When you attempt to add an
array, you cannot attach to it. What must you do to resolve this problem?

A. Reboot the HPE 3PAR StoreServ nodes, one at a time.

B. Restart the RESTful Application Program Interface (REST API).
C. Reboot the HPE OneView appliance.

D. Restart the Web Services Application Program Interface (WSAPI).

Correct Answer: D

QUESTION 5

A customer wants to implement asynchronous replication to a third site that is 450 miles (725 kilometers) from the
company\\'s main site. Which method should be used to size transfer rates and times for Remote Copy in this HPE
StoreVirtual environment?

A. Set up analyzer at both sites to monitor for 24 hours.

B. Collect performance data at both sites for 24 hours.

C. Perform multiple remote copy snaps to get an average size and rate.

D. Set up local snapshots to identify the change rate.

Correct Answer: B
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